

Bellwork: 3/22/13

Simplify the following rational expression:

$$\frac{3x^2+11x+10}{x^2+8x+12} \div \frac{9x^2-25}{x^2+x-30} = \frac{3x^2+11x+10}{x^2+8x+12} \cdot \frac{x^2+x-30}{9x^2-25}$$

$(3x^2+11x+10)$
 $3x(x+2)+5(x+2)$

$= \frac{(3x+5)(x+2)(x+6)(x-5)}{(x+2)(x+6)(3x+5)(x-5)}$

$= \frac{(x-5)}{(3x-5)}$

Page 1

ALGEBRA 2
WORKSHEET 8.4 #2

NAME _____
PERIOD _____

Divide and simplify each of the following expressions.

1) $\frac{x^2-25}{2x} \div \frac{3x+15}{12x^2-24x} =$

2) $\frac{5x-15}{x^2-25} \div \frac{2x}{x^2+5x} =$

3) $\frac{x^2-7x+10}{x-1} \div \frac{3x^2-6x}{x^2-1} =$

4) $\frac{x^2-7x+6}{x+3} \div \frac{x^2-5x-6}{x+3} =$

5) $\frac{x^2-2x-8}{4x^2+8x} \div (x^2+x-20) =$

Page 2

$$6) \frac{9x^2 - y^2}{2x} \div \frac{3x^2y + xy^2}{4x^2y^2} =$$

$$7) \frac{(m-3)^2}{m^2 - 6m + 9} \div \frac{m^2 - 9m}{m^2 - 9} = \frac{(m-3)(m-3)}{(m-3)(m-3)} \cdot \frac{(m-3)(m+3)}{m(m^2-9)}$$

$$\frac{(m-3)(m+3)}{m(m-3)(m+3)} = \boxed{\frac{1}{m}}$$

$$8) \frac{\frac{x^2-4}{x+3}}{\frac{x^2-4x+4}{x^2+3x}} =$$

$$\frac{(2x^2+6x) \div 3x+9}{2x(x+3)+3(x+3)} \div \frac{(10x^2+15x) \div 5x}{5x(2x+3)+2(2x+3)}$$

$$9) \frac{2x^2+9x+9}{x+1} \div \frac{10x^2+19x+6}{5x^2+7x+2} = \frac{(2x+3)(x+3)}{x+1} \cdot \frac{(5x+2)(x+1)}{(5x+2)(2x+3)}$$

$$\frac{(5x^2+5x+2x+2)}{5x(x+1)+2(x+1)} = \boxed{x+3}$$

$$10) \frac{b^2-100}{b^3} \div \frac{3b^2-31b+10}{2b} = \frac{(b+10)(b-10)}{b^3b^2} \cdot \frac{2b}{(3b-1)(b-10)}$$

$$\frac{(3b^2-30b)(-1b+10)}{3b(b-10)-1(b-10)} = \boxed{\frac{2(b+10)}{b^2(3b-1)}}$$

Page 3

Homework: 3/22/13

p. 8 & 9

Page 4

